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'In Exerclses 1-6 pomts A and B are glven. Make a sketch

1. A@, -1), B, 3)

Fmd the vector sum

"_9 @, 2)+( 1,;4)‘Clr_> 10, a, 5)+( -3, 2)

- 13: (-2, 3)and (4 7)?

.."17‘. (@a+3, —) and (a.+5 ) ln+l-i /.:!.) 18 (e,f) and (J; ) ( -P+\r—/)

24, A@3, —9), S( 1, =4
26. A, 0); S( 2 —6) ( C{ -

P ey

Vecto'r's!.’f-TI"iié':-:'.I\"'I'I"ic.lpc")iht- lformula-
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Then fmd AB and- |AB| :

_ ’ﬁ/ o 2 A( 1, —1), 3(3 2) /"l '5)
'3-,-A(0 0), B(4, —2) (1"?0.: 2 §_ S 4 A, 2), B(L, 3) > \ >
5. Al=2, 4, B(, 5) f’*’) l\ 4'6 - 6 A —2), B3, '—4)<—f r')l 14/5‘

7. The vectors (6 4) and (8 k) are. parallel Fmd the value of k
s S
8. The vectors (6, k) and (- 20 15) are perpend1cular Fmd the _' o

K value ofk k— ;CC_

11. 2, —4)+3(1 —2) ) .12 (5 D+ 2(4 3

Fmd the coordmates of the mldpomt of the segment that JOll‘lS the‘ 3;" ST
glven pomts ot '

1, (3 8)and( 1 ”)

In Exerclses 19 21 fmd the length slope, and mldpomt of: PQ

0. PR, ~6), Q-4 -2) Rrﬂ)‘ - ( a -‘f\
200 P(-2, —3); 0l4y-5) “/a ( \ \l e
- 21. P, 0), O(-3, '?“'Lf/”‘b ,("3/a ,"9)

- . A

S is the mldpomt of AB. The coordmates of A and S are glven
Find the coordinates of B, . __ - _ SR SO

22.°A(l, 6);-5(4, 8) " 23. A("Z 0% 5'("4 3) G)
25, 4(-4,2) 5@, -3) _@;_5’
a~\ L AG s se (0 8’ 5\
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